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STATISTICS
Maximum : 60 Scores
Time : 2 Hours
Cool off time : 15 Minutes
K General Instructions to Candidates : \
® There is a 'Cool off time' of 15 minutes in addition to the writing time.
® Use the 'Cool off time' to get familiar with questions and to plan your
answers.
® Read the questions carefully before answering.
® Write answer to the specific number of questions as instructed.
® C(Calculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® Give equations wherever necessary.
® KElectronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
mdegreB:
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EDRIBB(SOEMIE: Haldhoemlo al@ldHInndg® HalEOUlHeIIOM aldslg). /
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Answer any five from question
numbers 1 to 6. Each question carries
two marks.

1 ojo@ 6 ueowies 62106381

aReO®®leo D ag)dNo OEMAC af)PI®Ie:.
60600 62108y 2 @0ds6s aflmo.

120

1. Match the following. (2) | 1.  coinpais) coldses. (2)
A B
a) | Yearwise recordings of data of food 1) | Quantitative classification
production

Ed)) QUMBIBONOS HBR]OBMAROWS enIMWea]s &loenglog@lal omilanl@oeaud

QUOBaHIe, Cleqjodgidetd

b) | Census data published for citywise 1) | Qualitative classification
population in India

sormy@ieal allalll mmeemsalaal LBmavoalyOW &loglegrlal gomiladleoeanmd

B6M1HOIM HAVMVMY Glea|odZIe!D

¢) | The data recorded according to standard i1i) | Geographical classification
of education like illiterate, primary,

secondary etc.

allgyoeyoan mleicioe®@® dlosuad, aelndl, 216010 dlen@ @omfladleat

OAVLOHMAWA! ag)nTilemem ®oo @IRl]|SI8S B6MBEE-0D

d)| Distribution of families according to iv) | Chronological classification
their size

@OUIENBRIOS aG)EMNOOTD @OSIMAOMAIHE| HYSI6NITBOY clEeRelelpprelat 1kl

OOOBIB|2BE BEMBEBUD &OolanleHeanad.

2.  Categorize the following data as 2.  ©26¢ alowym ewgew ‘wlmiwsg’,
discrete or continuous. ‘Balmyiam” egmlai@oe] ®meo

a) The number of employees in RULLY
a factory. a) 80} andssolelen e®mo¥leos]

‘ _ _ HBIOS ag)eMo.

b) Welght of infants born in a b) 80p @OOIL@O® @l
hospital. WlEOHRES BOMO.

¢) Density of liquids stored in a c) 80} e1eeno05clI@ aveslafld
laboratory. BOUN (BOCUBETBRYOS MVO(O3D.

d) The position of a student d) e} gomiee &&51?@@ GRAIRRS
when students in a class are gweemimmymelel (@aleceoy
arranged according to their BMIOR 603 HySlWOS unoMo. (2)
height. (2)
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The age and sleeping hours of 12 3. &80} eowil@wles 80} (ale®yd:
persons admitted in a particular alleon @@ (leuloneqggies 12
wing of a hospital are listed BOSIBHBIOS (10U @OAUDIOS HOHS
below. Draw a scatter plot. (2) MOQAC OBISIOTIAENM). ‘@TROQd
8gJ05” QUAWBE)E:. (2)
Age 30 | 23| 42 |45 | 50| 78 | 65 | 70 | 60 | 72 | 27 | 48
Hours
of sleep 5 3 6 6 7 4 5 3 6 7
The mean value of the weekly 4. 40 ®s)o6niemges 800¥alwleeal
income of 40 families is 2650. wE00a@ QIEMIMo 2650 mal@osn.
Later on the analysis, it was g)MOM  8O) B SjomEBIOR
found that the income of one aE@omo 1150 agm@lmy aldso
family is misread as 1500 instead 1500 agam’ coeueq|s 0w @ dlon,
of 1150. Find the correct average M@ allarils’ #66ns@Dl. ag)sslcd
of weekly income. (2) wolWO®  EINEl  AUEIAOMo
B6MBEIBE] . (2)
a) For a Leptokurtic curve 5. a) e ‘eealegomdsle;s edal’ e
by =i by =i
1) 0 1) 0
i) 3 i) 3
iii) less than 3 111) oyml@d w0l
iv) more than 3 (1) V) ol @so@d (1)
b) The frequency curve of a b) eny al@esmemlen @valyes
certain distribution has the QUBEDOR  0OmIE  ®O6Y
following shape. Identify the 806m] 2|80 (10006, aR®)
type of skewness. Moo  Mh)IMa @O’
1) Symmetric @012 Sl .
i1) Positively skewed 1) mioEles
111) Negatively skewed 11) eatomiiglal misaiouy
iv) Cannot be determined (1) 1i1) emmglal avepaiou’
1V) &6e6momom &¥lalg) (1)

Mode

Median

Mean

3

Turn Over


https://studentmap.in/

6. In a large shopping mall, a
marketing agency conducted a
survey on credit cards. The

results are shown in the table.

120

6. &0 el swdqfled nogleel
00RHOGER aRRMM @D (A IGBUOED
OD>WIF HOBW ©aleIN]HHIM
@818 |gl 80 allaio ewealosmo
msEmOM @leimomlall. @URBe)
aflloleens

151w ®O6Y

G066 SOl @len M.

Employment status

9GBW MIAINId®o

Owns a credit card

aB-UlF 0B ORI

Does not own a credit card

B)(BAIF DWW ERIOEBAUD

Employed
18 29
ex0e/lwigand
Unemployed
eggoelaflgjommald 28 >
If a person is selected at random, U@ o’ 80068
find the probability of a person @ 06MMS;EMEA[OD @OEGaOETHIMN,
owns a credit card given that he 6220elWBa®ONS B0 ag)ssl@
1s employed. (2) @@ 6BWIF BB OOBAUDNSRS
@D/OUOIMISE MoBIQUY®
ag)mofdlee)o. (2)

Answer any six from question 7 0@ 13 aleowies 6ol0ayaBReld

numbers 7 to 13. Each question aRe®ssIee 6 agemo OMMAO ag) Y.

carries three marks. 60600 ¢o10Bj 3 MmOdHs aflmo.

7. a) A person who is intended 7. a) pBdeaigflencud  MsEmOd
to make investigation is 20®EIWIBE ADHOM ..o
called ......... agomy allglesmmy.

1) enumerator 1) agmymeogd

11) investigator i) sneaigylengd

iii) informant 111) e0ad@a0dODF

1v) witness (1) iv) algmay (1)
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b) Match the following. (2) b) @aipals]l eoiBeeye. (2)
A B
1) Answers are filled by the respondents 1) | Focus group discussion
allaioo M@EM@OWD MVIaow @aD0BOM (o]
OBMOIBUID ag)PIMIM) allaueewesl®emo
1) | Informants need not be literate 2) | Telephone interview
QlaIoemmBed MEBdME@IWD eselleanoarieyes
OHHOMIQfIABHEMo ag)Tilg) allalecwealoemo
i1i) | Collects data from the informant 3) | Mailed questionnaire
personally but not directly
Al M@demM@ AllaueEo@IT 3.2J03300Ue[l (B gRM@AD)
MIQ@0Q) alod:y NAEISE BOQHHM Bl
iv) | Collect more opinions about a specific 4) | Schedule
topic to take better decision
80} (e®yd Allatweemaelgl Mg @lo@omo EaUUWD
a)SieOiM@Imy eaeng] &mMIGd B:3SiO @
@0E aI0WEBHD Mflex@leannmy
There are 1440 employees in a ]0) S 1440
certain company of all omovlengleans. @ool@ 480 €ald
employees, 480 are women. In (@eg06m. M@ o®O¥leI0s]@-al@d
the women employees 120 are 120 6atd aflcuoadl®meoem. ali®ay
married and among men O®O¥1LI08] B (D 240 Gald
employees 240 are married. alaoadl®eoem’. o1 allaloaB
Tabulate the data. (3) IS 00 IOTRIOBE 0. 3)
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9. From a partially destroyed back 9. el allaleBd Matsens 8
files, the following information anwel@ mlamie @O aloWim
are obtained. The total aflaloensd STSENY o)
expenditure of the family in a BrISLNIOTOM B0} BOMVOTD @DEE>
month is Rs. 10,800. The angle oateial 10,800 mei@oer. allafw
of sectors related to the afeialmaBglos  @e0emaald:d
expenditure are given below. ®069W88 ISl @ @

Angle of sectors @06l fldleanyamy.

Items corresponding aflafo

to expenditure afelyed aleialmemsees
Food 108° GB-06MBOUIB-D
Fuel and clothing 114° QORTRICE 108°
Rent and Electricity 96° EHAWMAU0 AUMI@Qo 114°
Education 14.4° QUOSH:o OeOBYBI0 | 96°
Miscellaneous 217.6° aflayeyomo 14.4°

a) Which diagram is most alelQlds 27.6°

10.

suitable for representing this

data and represent the data

in a rough diagram?
b) Calculate the

expenditure for education.

actual

The mean monthly salary paid to
all employees in a company is
Rs 15,900/-. The mean salaries
paid to the technical and
nontechnical employees are
Rs. 18,000 and Rs. 12,000.
Determine the percentage of
technical and nontechnical

employees in the company.

(2)

(D

3)

10.

a) 9 AlEEBD GOAIOQ|SIOMIAIO

M o@RQIe @OMIGWOIRIMOW)
W WE®. MY  AlUOBRD
YoreNdeld BYOIOOI
BOEUOQISIOB:.

b) afNasyosyomemImy scuenel

2PI0I0H I LNOd®mA @ik

Q) ®OQANY HEMEOILE)B>.

B0} SHmimlleel DL
6®O¥1RI08lHR)ESWI0 BAUMEBIOHM
wowdl 15,900 ojiwoen. alleuiay
OMOYIRIOEH:OS 0EIUE] BQIMMo
18,000

OMOYIRIOEH:OS 0EIUE] BQIMMo

MJal@lo  @RANBUWAEL
12,000 0jal®io @DHIM]. af)ss|@d
afleuw’an O®O¥1RI08]3:8)8SW 0
@alerab e®mI¥laglsHalesW)o

ag)eMo N®ROMMTI@ B6MBOIBIE:.
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11. Weights of nine students of a 11. sy gomlea 9  Hgleales
class are given below. Calculate @000 (18RI (MII@M) ®MIEleeIM].
the mean deviation about the & aNel®e1es Sl
median of the series. (3) @YWL Wes Alad ullaflewaxmd
B6MBEOD)E>. (3)
Weight (Kg.)
47 50 58 45 53 59 47 60 49
©000 (H5leaI0WI0al@)
12. While studying about the road 12. &80} OVOETORI EOIWAIBSEBEOS
accidents in a city, the following S6mes altleowloleajoBd @Y
data was obtained. alo@yMm alluesBtd elElal.
Age of drivers
19 21 30 45 50 54 25
OO(WAOIS (10Wo
No. of motor accidents
50 52 40 22 10 14 35
BOOWAlBHSEMBRINS ag)§po
Compute the covariance OOWAINOS (IOWAI BOIWald:S
between age of drivers and BRIOS  af)eMQlle  ®@onlenss
number of accidents. (3) BBHIBOUDMNY BHEMBOOLEEs. 3)
13. The first four central moments 13. eq alocemomied @oeeom Mmoel
of a distribution are 0, 3, 0 and ‘omvadis@d emoa@my’ 0, 3, 0, 27
27. Determine skewness and agymlemBem®oem. v  all®moem
Kurtose's of the distribution and OTOR MBRMMY, BdBZoMIMY enal
comment on the nature of the & 6M H6)0 H6)] alleoeemomlen
distribution. 3) mjeoalemmaldl alleiloymms.. 3)
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Answer any five from question
numbers 14 to 19. Each question

carries four marks.

14. a) Statistics deals with ...........
1) individual items
i1) special items
111) aggregate of items
1v) any items
b) Write a short note on NSSO.
15. A sample of 50 people are
divided into matually exclusive
groups based on their opinion
about the dinner they like. 21
like rice, 22 like chapathi, 5 like
vegetable salad and 2 like soups.
A person is selected at random.
Find the probability that,
a) he likes rice
b) he likes chapathi or
vagetable salad
¢) he doesn't like chapathi or
rice
d) he doesn't like soup.
K-

(1)
(3)

(4)

14 0)o@ 19 ueonwias @2103y6Ral@d
oRe®BIeo & ag)eNo HODMAO ag)FIBI:.
60600 82108y 4 mod#es) aflmo.

14. a) qoglgflesmy ...
2102 &21QROM].

1) apsemlnoe alleisd
11) (alemyd alleiddd
111) @50@)88 alleied
1v) agomsssleyo alleietd

b) NSSO agomn wosiewqigl &
B0la] ®QO0OBOH:.
15. 50 ea1d eBeqisim &ay comiglem
©O(®] GHUMOMILNRS @OUOIOS
@0 &l (I 0@EmIMmMEle) oyl el
ag) WM’ ((D3aid800 ®oo
@lelall. 21 6aud @REIWOan000
Da¥iS6OQ|SIMN. 22 8aldHE) 2lalo@ s,
5 @ald alg)eed] qoal, 2 @ald avia]
OUWIE ®OMaldyo HHO6Mlal. &0
momilgl@ mlam” 8ry UySmIO®
0omMWwo @] @106 6TTNS )OO Gd
BOWORD:
a) @OAIWOaN0M0  aHSOHQISIM
@OBOLOMIBS MVOBIOY® ag)(TD)?
b) 2lajoEmled alojend] MoeIEawd
Da¥'SOQISIM  EDBOHOMIBS
MoBIQLY® af)s)?
¢) algjooml®io @EIWOa0d0AI0
Da¥'SOQISIM  EDBOHOMIBS
MoBIQY® ag)s)?
d) e eaxseq|SOEm ERSOLIMES

MoBIQY® ag)s)?
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16. The distribution of sales (in 16. &0y 200 &1 (ad] 8o 1@
numbers) of 'brand A' toothpaste aN@aealodym ‘Eomas’ A’ syom
in a marginfree shop in a town ealqlom aflgiaiealed agepavlan
is given below. Find the mode of Qlmosmo @Y 6§85 O BB,
the distribution. 4) ol al@eem@n] e smow’
BEMBOOBO) . (4)
Sales (in numbers)
allggauea (agepeiad) 0-9 10-19 | 20-29 | 30-39 | 40-49 | 50-59
Number of days
dlolive 4 10 20 11 3 2
17. a) The range of a set of values 17. a) eq emg allawvgws eoemi 16
i1s 16 and its minimum value oo @AUWIOR a@RAlle ©2I0lw
1s 21, the maximum value afler 21 9o @IM uelw allel
IS o e, @B,
i) 5 i) 37 i) 5 1) 37
iii) 42 iv) 26 (1) iii) 42 iv) 26 (1)
b) Prices of shares of a company b) ey e&nmlees 30 GoYaleedd
were noted from Monday to ®BBRD O@ 0wl UsoWIBs
Saturday for 30 weeks. Find dlaumemalenl 8andlegies allel
the quartile deviation of H6MIHHSN @l HOIMNY. BT
prices of shares. 3) Wes 82001  Qlelee)es
‘@005 @ alalearm’
HEMBEIHE) . (3)
Day Mon Tue Wed Thu Fri Sat
alaumo @lf=eNe) 6.210Q) e QU090 ogs| wml
Price / afle 200 210 208 160 220 250
No. of weeks
3 7 6 8 4 2
@OY2HHOS af)eo
9 Turn Over
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18.

19.

a)

b)

a)

Which one of the following is
a probability sampling?

1) Convenience sampling
1) Judgement sampling

111) Systematic sampling

1v) Quota sampling

A sample of 3 boys and 2 girls
of a school are selected to
form an executive committee
for Souhrida club. How many
different ways, a Vice
President and a Secretary
can be selected from the
group? List the pairs. (Take
boys as B, B,, B3 and Girls
as G, G,

The PTA of a school decides
to appoint teachers for
cocurricular activities in
their school. They appoint
teachers for Guitar and
Tabala. 30% students joined
in Guitar class and 20%
joined in Tabala class. 10%
joined in both the class. A
student 1is selected at
random from the school.
What is the probability that,

1) The student is enrolled in
any of the two classess?

i) The
enrolled in any of the

student 1s not

classess?

(1)

(3)

(3)

10

18. a)
b)
19. a)

®OeY alO@IM @@
‘etoenuendlellgl cmvomigles” @l
Q®O6m?

1) semalmlemm momiges
11) ameonnd comisles

111) milaumoglss cvomigler

1V) @050 momigles’

MVa0y3 genlleam ag)emilayglal
&1l dgafldalonimalmow]
B0) MWegl@ mlonio 3 @6
G HBEWI0 2 61 lerdd:Sleaw)o
momfmd
@ OOTMSYOY. QGG Mlamyo

OWeIS)MM B0
B0 OOUM (almla@lemmio B0}
OV (@300 af)(®@ @@
@ OOETNSIH60. @Y BRIWHUD
QOB AG)PIBIE>.
(eoemaslees B, B,, B,
agmyo ealedeglees G, G,
ag)0Mio ag)SIee))

80y Mdelem all.gl.ag). alooy-
MIEUMW (I UR@DHMEBRDH6)OW]
(0 IB@®YB BRELYOAIGHO0 MIWRlHs)
mmlmy @lojmomlall. wlQod,
®enlel agamlal aldlaflenym
mofl 2 @OELYAIGED MlWalol.
30% @ 5le@d 1lQod oavled
20%
ISl 6Ll omilad coldmy.

G2loM  @lojmomlal,.

10% &igletd mensy goaulelio
GaIdM). ag)®IB @Y aUBe]M
mimMmio ®1EEEMHSIHENIMM  B0)
AG:

1) 0 ey &omilad ageamelelo
S8MI@ 9BOQ|S®OIOM8S
MoBIQY® ag)s)?

D
oReaso®Ialaenomias

11) 6N3) oavleno

MoBIQY® af)s)?
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b) An event consisting of those b) A g eu@leoer @ronEBRD
elements which are not in A OROAUSOT® OAUFOM ..ovceeeveae
is called ........ Qg)0Mmy alo@my.

i) primary event 1) eelladl e
11) derived event 1) alosoalu o
ey 1i1) mionflcd el
iii) simple event

1V) @&oogfloanddl enalad
iv) complimentary event (1)

Answer any two from question 20 )@@ 22 ueowigs 62106)6m8l@

numbers 20 to 22. Each question o@e®®sleo 2 aggfo HOMAO af) I,

carries six marks. 80600 6210Bj 6 2odes) aflmo.

20. a) A person received the 20. a) &0y ye®lee 4 UdUED] @
following percentage HN30W wmlg davm
increase in salary over a four- (@20MEBI@) 60 (alBHODO6M.
year period. 8%, 6%, 4% and 8%, 6%, 4%, 5%. o@glo
5%. Calculate the @OMIEQOLRYMOW Alal@ waug
appropriate average increase QUBBLMWOS VOOOUOE] B06MId>.
per year. (2) b) ea gomileel £5le:816 Galoseg

b) The following table shows oeml@ies allmoemo  algld0
monthly pocket expenses of Al ODI@ ®060Y 6©H0s;Om 0]
students in a class. While ®OJMY. HAUNW alSldQOIHe]
tabulating data, the teacher wea 0@ 40—-49 mpe 60-69 mpo
miss the number of students 0@ 6aloseg menl §alewoud]
who have pocket expenses HOIM  HISIHBIOS  ag)emo
between 40-49 and 60-69. @0aLYA BB Matisens). 0D
But she knows that the aleoememled odlwlwm 42
median of pocket expenses is @0 6)6M 8513 Mar'seqlg
Rs. 42. Find the missing @OUIODDHD &M BHI B>
frequencies, if the total GOMOE @DOB B5HISHEIOS
number of students in the agemo 40 @My,
class is 40. (4)

Pocket expenses

s 10806 aen 20-29 30-39 40-49 50-59 60—69

No. of students

B5l816S ag)emo 10 8 ? 4 ?
K- 11
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21.

The State
Department decided to purchase

Education

laptops from manufactures of
two laptop companies. A team
was deputed to study about their
services in 6 institutions and the
study report is as follows :

21.

Momuom  aflayoeyom Qudsyal 2
10aiesoq] mMIBMOeM & mIM]HHelcd
mlmgo  810ai8Soqe]  QIoEBOM
@ojaomlal). @ HUMHRIOS
MAIMETBe8a]gl @oeMjaHloolwond
80y glolem olomeeqisyeml. 6
QY@@ qOdalmemsgl@ mlmyo
@D GUoed@lel QlUEEB® 2l1es
6)>0S )T @O,

120

Time taken to turnout for service after reporting complaint
@RIOBEBWD (lealods 6.21QimEUato BIUAIMETHIN ag)@BAIOM agSIHeIN LAY

Company A (Days
pany A (Days) 1 2 3 2 2
&Il A (Glauao)
Company B (Hours)
35 45 30 35 40 25
& B (oemleayd)
a) Find the coefficient of a) 06 HMUMIBHESWIo GIVLAIM
variation of service time of WOEOR  Gdoag)anlauydl
two companies. (5) 80ad GAIEWAUM’ E06Mds. (5)
b) Which company is more b) agey EmM@®s QM
. . 7 o
reliable in service’ 1) S ————— (1)
22. a) There are two groups of 22. a) 4 epedoElealo 2 Oalendeng)
students consisting of 4 boys 80, 3 @YENMVBSI®el0 1 Oalemd
and 2 girls, 3 boys and 1 girl. &yl deg]sym dlolwfd
One student is selected from ojle%o&)m%e,g&@s O8NS ()i
both the groups. What is the 9EnS. @6ney (3afled rlamyo §9609
bability that b d )Sl608 ®066MMSIEMOT @Y
pro a‘ 1 y‘ at one boy an SO 630) BEMB:ISIWe 60
one girl being selected? (2) oaIeglwo 9ROa|SOMEs
b) A machine part is produced TVOEOAL® ag)0D? (2)
by three factories A, B and C. b) 80y salmoemEmIOq  alel
Their proportional cowem® A, B, C agarl ayom,
production is 25%, 35% and D051l @Y mjgm'loe@ogjs:;lm(%
. @AIQYOS  H@ajosmaEDme
40% ly. Al h
0% respectively so.t © @OMYald®o @LNOW-mo 25%, 35%,
percentage of defectives 40%

0 g)MIETBEM @DBYM). 60D
manufactured by three D)) an0iSGleelee aldanoem
factories are 4%, 5% and 2% VOQ @YD) EMBOW MVIOBEIBEIOS
respectively. A part is OMIMo WLNd(@mo 4%, 5%, 2%
selected at random and is ag)MIMBOMWOEM. B0, BOWO
found to be defective. What @lOETTDSIOM] lEl8000U e 00
is the probability that the @O @ @rouooe;oiggg@omﬂ

MBI ag).s1dd @o® Bl B
selected part belongs to
MBI 2 MOBHIMIBE  TVoBICUY®
factory B? (4) ag)To? 4)
K- 12
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